
4 5321

Assembly Instructions

ROUTE CHARGING 
CABLE THROUGH
STAND AS SHOWN

Through Stand Cable Assembly

Mast Stand SKU:333B/333W

REMOVE FRONT COVER. 
USE T-20 TORX 

WRENCH (PROVIDED) 
TO REMOVE M4 X 10mm 

TORX FLAT HEAD SCREWS

ROUTE CHARGING CABLE 
THROUGH ENCLOSURE 

OR VESA MOUNT. 
INSTALL TO STAND USING 

M4 X 8mm PHILLIPS 
PAN HEAD SCREWS

 (PROVIDED)

ATTACH CHARGING CABLE 
TO TABLET, LEAVE A SMALL LOOP 
OF CABLE BENEATH THE TABLET

INSTALL THE REST OF THE ENCLOSURE 
OR VESA MOUNT 

PER THEIR INSTRUCTIONS

8 97

www.compulocks.com | online@maclocks.com | +1 800-948-0344 Sheet 1 of 2©Compulocks Brands Inc. All Rights Reserved

6 
ABOVE COUNTER 

ROUTING - 4 POSITIONS

THROUGH COUNTER ROUTING

REMOVE CABLE CLAMP

ROUTE CHARGING CABLE
THROUGH CLAMP AREA

REINSTALL CABLE CLAMP
DO NOT OVER TIGHTEN

LEAVE SLACK IN POWER CORD 
BELOW CLAMP

REMOVE BOTTOM PLATE. 
USE T-20 TORX WRENCH (PROVIDED) 

TO REMOVE M4 X 10mm SCREWS



1 2

11

10

Assembly Instructions

www.compulocks.com | online@maclocks.com | +1 800-948-0344©Compulocks Brands Inc. All Rights Reserved

Secure Counter Mounting
DRILL HOLES

FOR MOUNTING

50mm
1.97in 25mm

.98 in

7mm
.275 in

2X

25mm
.98 in

30mm
1.18 in

INSTALL BOTTOM PLATE
USING WRENCH PROVIDED

INSTALL M6 THREADED 
STUDS (PROVIDED)

INTO BASE 

INSTALL FRONT COVER 
USING WRENCH PROVIDED

Mast Stand SKU:333B/333W

IN THE BOX

Sheet 2 of 2

Tilt Tension Adjustment

3

StandHardware Kit

75mm VESA Mounting

M6 X 65mm Threaded StudT20 TORX L-Wrench M6-1mm Hex NutM6 Flat Washer M4 X 8mm 
Phillips Pan Head Screw

 TWO LOCATIONS 
FOR CABLE LOCK

Securing Stand Using Cable Lock

ADJUST HINGE TENSION 
USING WRENCH (PROVIDED)

SECURE STAND TO COUNTER 
USING M6 FLAT WASHER AND 

M6 HEX NUTS (PROVIDED)

SECURE STAND TO COUNTER 
USING M6 FLAT WASHER AND 

M6 HEX NUTS (PROVIDED)

REMOVE HOLE PLUGS
TO ACCESS 

75mm PATTERN


